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S. Figure 3:  Forest Plot for a. net adverse events, respiratory complications, and cardiac arrest (Left side); dermatologic complications, GI complications, and neurological complications (right side) showing an individual and pooled OR for all-studies comparing HCQ treated patients with control. 
image1.png
Net Adverse Events:

0Odds Ratio
Weight_M-H, Random, 95% CI

HCQ +- Azithro  Control

Study or Subgroup __Events __ Total Events Total

Odds Ratio
M-H, Random, 95% CI

16.1 HCQ +- Azithro

Chen) 2 15 0 15 31K 574[0.25,130.37] B
Chenz 2 31 0 31 32K 534002511589 —_—
Huang 5 10 8 12 86K 0.500.00, 281 —
Rosenberg 640 735 94 221 369%  9.10(6.46,12.82) -
Tang 15 70 3 B0 134K 7.00[1.93,25.35] —
Subtotal (95% CD) 861 359 651%  4.39[146,1320] e
Total events 664 105
Heterogeney: Tau! = 0.83; ChF = 10.73, df = 4 (P = 0.03); ¥ = 63%
Test for overalleffect: Z = 2.64 (P = 0.008)
162 HeQ
Rosenberg. 223 271 84 221 349%  628[4.16,9.46] -
Subtotal (95% CI) 271 221 34.9% 6.28 [4.16, 9.46] >
Total events 223 54
Heterogenehy: Not applicable
Test for overall effect: Z = 8.77 (P < 0.00001)
Total (95% C) 1132 580 100.0% 5.83 [3.30, 10.28] -
Total events 887 199
Heterogenehy: Taut = 0.20; ChF = 11.54, df = 5 (P = 0.04); ¥ = 57X bo1 o i 1 100
Test for overalleffect: Z = 6.09 (P < 0.00001) : ' +-
Test for subgroup differences: ChF = 0.36, dF = 1(P = 0.55), F = 0% Favours [HCQ + - Azithrol Favours [control
Cardiac Arrest
HCQ +- Azithro  Control 0Odds Ratio Odds Ratio

Study or Subgroup Events Total Events Total Weight M-H, Random, 95% CI M-H, Random, 95% CI
1.13.1 HCQ +- Azithro
Rasenberg 38 118 7 20 563%  0.88[0.33,239] _—
Subtotal (95% CI) 118 20 56.3% .88 [0.33, 2.39]
Total events 38 7
Heterogeneny: Not applicable
Test for overall effect: Z = 0.25 (P = 0.81)
1132 HCQ
i . 14 7 2 43.73 1. .35, 3.
Seon Bk c b o O8% ARRIN —~—
Total events. 14 7
Heterogeneny: Not applicable
Test for overall effect: Z = 0.14 (P = 0.89}
Total (95% € 156 40 1000%  097(0.46,2.04] -
Total events. 52 14

Hetzrogenehy: Taw® = 0.00; ChF = 0.07, df = 1 (P = 0.79); F = 0%

0.01 0.1 10 100
Test for overall effect Z = 0.09 (P = 0.93} -
Test for subgroup differences: Che = 0.07, df = 1 (¢ = 0.79), F = 0% s
Respiratory Complications:

HCQ +- Azithro Control Odds Ratio Odds Ratio
Study or Subgroup__ Events  Total_Events Total Weight M-+, Random, 95% CI M-, Random, 95% C1
1.7.1 HCQ +- Azithro
Huang 4 10 6 12 15.6% 0.67 [0.12, 3.64] —_—
Rosenberg B2 118 13 20 45.2% 1.23 [0.45, 3.33] ———
Tang 2 70 0 B0 48X 5.88[0. 124.50] —_—
Subtotal (95% CI) 198 112 656% 119052, 2.73] i
Total events. 88 18
Heterogenehy: Taw = 0.00; ChF = 1.52, df = 2 (P = 0.47); F = 0K
Test for overall effect: Z = 0.41 (P = 0.68)
17.2 HCQ
Rosenberg. 26 38 13 20 344% 117 [0.37, 3.67] —l—
Subtotal (95% CI) 38 20 344% 117 (037, 367] e
Total events. 2% 13
Heterogeney: Not applicable
Test for overall effect: Z = 0.26 (P = 0.79)
Total (95% CI) 236 132 100.0% 118 [0.60, 2.31] B
Toul everts 114 52
Heterogenehy: Tau® = 0.00; Ch¥ = 1.51, df = 3 (P = 0.68); F = 0% 9ot 01 ) 100

Test for overall effect: Z = 0.49 (P = 0.63)
Test for subgroup differences: Chi = 0.00, df = 1 (P = 0.98), F = 0%

Favours [HCQ +- Azithro] Favours [control]




image2.png
Dermatologic Complications:

HCQ +- Azithro  Control Odds Ratio Odds Ratio

Study or Subgroup _Events _Total_Events Total Weight M-H, Random, 95% C1 M-H, Random, 95% C

Chenz 1 30 0 31 SLIX  3.2000.13,61.78] —F——————
Huang 110 0 12 485K 3.8500.14,108.09] -
Total (95% € w0 43 1000% 35500353593 —gE—

Toul everts

Heterogeneny: Taut = 0.00; O = 0.0, = 10 = 0,095 = 0

Testfor overalleffet: Z = 1.07 (P = 0.28) oot

o1

GI Complications:

Favours [HCQ +- Azithro]

10

Favours [control]

100

HCQ +- Azithro

Study or Subgroup __Events.

Control

Total_Events Total

0dds Ratio
Weight_M-H, Random, 95% CI

0Odds Ratio
M-H, Random, 95% CI

19.1HCQ +- Azithro

Chen) 2 15 0 15 49% 574102513037
Huang 5 10 8 12 131X  0.50[0.09, 281
Rosenberg 85 735 16 221 378%  168[0.96,292
Tang 1 70 1 80 99% 1473 [185117.271
Subtotal (95% C1) 830 328 655% 224(065, 7.70]
Total everts. 103 25

Heterogenety: Tau = 0.84; ChF = 6.81, df = 3 (P = 0.08); F = 56%

Test for overall effect: Z = 1.28 (¢ = 0.20)

192 HeQ

Rosenberg. 22 271 16 221 344K  113058,221]
Subtotal (95% C1) 271 221 344% 113 (0558, 221]
Total everts. 22 16

Heterogenety: Not applcable

Test for overall efect: Z = 0.36 (P = 0.72)

Total 95% 1101 549 100.0% 165 (0.79,3.41]
Total everts. 125 a1

Heterogenety: Tau = 0.28; ChF = 7.95, df = 4 (P = 0.00); F = 50%
Test for overall effect: Z = 1.34 (P = 0.18)
Test for subaroup diferences: ChE = 0.90, df = 1 (¢ = 0.34), K = 0K

g

0.01 0.1 10
Favours HCQ +- Azithro]  Favours [control]

100

Neurological Complications:

HCQ +- Azithro  Control 0dds Ratio odds Ratio

Study or Subgroup __Events _Total Events Total Weight M-H, Random, 95% CI M-H, Random, 95% CI

Cheny T 31 0 31 326K 3100012,78.04] e

Huang O 10 2 12 344k 020001469 —

Tang 1070 0 80 330K 34700.14,8668) ———
Total 95% € m 123 1000%  126(020,7.98) ——esEE—

Totl everts 2

Heterogenery: Tau = 0.00; ChF = 2.00, df = 2 P = 0.37) F = 0% T a— H o0

Test for overall effect: 2 = 0.24 (¢ = 0.81)

Favours [HCQ +- Azithro]  Favours [control]




